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sgd�oqnuhrhnmr�ne�=qshbkd 1/�sn�bnmshmtd�sn�Zookx�dudm�Zesdq�sgd�Bghmdrd�
rstcdms�adbnldr�Z�qdrhcdms�Zkhdm�ne�sgd�Tmhsdc�RsZsdr-�=�Bghmdrd�
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nm�ghr�nq�gdq�rbgnkZqrgho�nq�edkknvrgho�hmbnld�vntkc�ZssZbg�sn�Enql�
V,8�Z�rsZsdldms�sgZs�hmbktcdr�sgd�hmenqlZshnm�cdrbqhadc�Zanud�sn�
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oZxldmsr-�Sghr�hr�bZkkdc�'aZbjto�vhsggnkchmf-•��OZxldmsr�sgZs�lZx�ad�
rtaidbs�sn�aZbjto vhsggnkchmf�hmbktcd�hmsdqdrs*�sZw,dwdlos�hmsdqdrs*�
chuhcdmcr*�aqnjdq�Zmc�aZqsdq�dwbgZmfd�sqZmrZbshnmr*�qdmsr*�qnxZkshdr*�
mnmdloknxdd�oZx*�oZxldmsr�lZcd�hm�rdsskdldms�ne�oZxldms�bZqc�Zmc�
sghqc�oZqsx�mdsvnqj�sqZmrZbshnmr*�Zmc�bdqsZhm�oZxldmsr�eqnl�ehrghmf�anZs�
nodqZsnqr-�PdZk�drsZsd�sqZmrZbshnmr�Zqd�mns rtaidbs�sn�aZbjto�
vhsggnkchmf-

Xnt�vhkk�mns�ad�rtaidbs�sn�aZbjto�vhsggnkchmf�nm�oZxldmsr�xnt
qdbdhud�he�xnt�fhud�sgd�qdptdrsdq�xntq�bnqqdbs�SHM*�lZjd�sgd�oqnodq�
bdqshehbZshnmr*�Zmc�qdonqs�Zkk�xntq�sZwZakd�hmsdqdrs�Zmc�chuhcdmcr�nm�xntq�
sZw�qdstqm-

OYxldmsr�xnt�qdbdhud�vhkk�ad�rtaidbs�sn�aYbjto�vhsggnkchmf�he9�

0-�Xnt�cn�mns�etqmhrg�xntq�SHM�sn�sgd�qdptdrsdq*

1-�Xnt�cn�mns�bdqshex�xntq�SHM�vgdm�qdpthqdc�’rdd�sgd�hmrsqtbshnmr�enq�
OZqs�HH�enq�cdsZhkr(*

2-�Sgd�HPR�sdkkr�sgd�qdptdrsdq�sgZs�xnt�etqmhrgdc�Zm�hmbnqqdbs�SHM*

3-�Sgd�HPR�sdkkr�xnt�sgZs�xnt�Zqd�rtaidbs�sn�aZbjto�vhsggnkchmf�
adbZtrd�xnt�chc�mns�qdonqs�Zkk�xntq�hmsdqdrs�Zmc�chuhcdmcr�nm�xntq�sZw�
qdstqm�’enq�qdonqsZakd�hmsdqdrs�Zmc�chuhcdmcr�nmkx(*�nq

4-�Xnt�cn�mns�bdqshex�sn�sgd�qdptdrsdq�sgZs�xnt�Zqd�mns�rtaidbs�sn�
aZbjto�vhsggnkchmf�tmcdq�3�Zanud�’enq�qdonqsZakd�hmsdqdrs�Zmc�chuhcdmc�
Zbbntmsr�nodmdc�Zesdq�0872�nmkx(-

BdqsZhm�oZxddr�Zmc�oZxldmsr�Zqd�dwdlos�eqnl�aZbjto�vhsggnkchmf-�
Rdd�Cwdlos�oWxdd�bncd)�kZsdq*�Zmc�sgd�rdoZqZsd�Hmrsqtbshnmr�enq�sgd�
Pdptdrsdq�ne�Enql�V,8�enq�lnqd�hmenqlZshnm-

=krn�rdd�RodbhWk�qtkdr�enq oWqsmdqrghor)�dZqkhdq-

UgYs�hr�E?SB?�Pdonqshmf:
Sgd�Enqdhfm�=bbntms�SZw�BnlokhZmbd�=bs�’E=SB=(�qdpthqdr�Z�
oZqshbhoZshmf�enqdhfm�ehmZmbhZk�hmrshstshnm sn�qdonqs�Zkk�Tmhsdc�RsZsdr�
Zbbntms�gnkcdqr�sgZs�Zqd�rodbhehdc�Tmhsdc�RsZsdr�odqrnmr-�BdqsZhm�
oZxddr�Zqd�dwdlos eqnl�E=SB=�qdonqshmf-�Rdd�Cwdloshnm�eqnl�E@SB@�
qdonqshmf�bncd)�kZsdq*�Zmc�sgd�Hmrsqtbshnmr�enq�sgd�Pdptdrsdq�ne�Enql�
V,8�enq�lnqd�hmenqlZshnm-

TocYshmf�Wntq�HmenqlYshnm
Xnt�ltrs�oqnuhcd�tocZsdc�hmenqlZshnm�sn�Zmx�odqrnm�sn�vgnl�xnt�
bkZhldc�sn�ad�Zm�dwdlos�oZxdd�he�xnt�Zqd�mn�knmfdq�Zm�dwdlos�oZxdd�
Zmc�ZmshbhoZsd�qdbdhuhmf�qdonqsZakd�oZxldmsr�hm�sgd�etstqd�eqnl�sghr�
odqrnm-�Enq�dwZlokd*�xnt�lZx�mddc�sn�oqnuhcd�tocZsdc�hmenqlZshnm�he�
xnt�Zqd�Z�B�bnqonqZshnm�sgZs�dkdbsr�sn�ad�Zm�R�bnqonqZshnm*�nq�he�xnt�mn�
knmfdq�Zqd�sZw�dwdlos-�Hm�Zcchshnm*�xnt�ltrs�etqmhrg�Z�mdv�Enql�V,8�he�
sgd�mZld�nq�SHM�bgZmfdr�enq�sgd�Zbbntms:�enq�dwZlokd*�he�sgd�fqZmsnq�ne�Z�
fqZmsnq�sqtrs�chdr-

OdmYkshdr
EYhktqd�sn�etqmhrg�SHM-�He�xnt�eZhk�sn etqmhrg�xntq�bnqqdbs�SHM�sn�Z�
qdptdrsdq*�xnt�Zqd�rtaidbs�sn�Z�odmZksx�ne� 4/�enq�dZbg�rtbg�eZhktqd�
tmkdrr�xntq�eZhktqd�hr�ctd�sn�qdZrnmZakd�bZtrd�Zmc�mns sn�vhkketk�mdfkdbs-

Bhuhk�odmYksx�enq�eYkrd�hmenqlYshnm�vhsg�qdrodbs�sn�vhsggnkchmf-�He�xnt�
lZjd�Z�eZkrd�rsZsdldms�vhsg�mn�qdZrnmZakd�aZrhr�sgZs�qdrtksr�hm�mn�
aZbjto�vhsggnkchmf*�xnt�Zqd�rtaidbs�sn�Z� 4//�odmZksx-



Enql�V,8�’Pdu-�0/,1/07( OZfd�2

BqhlhmYk�odmYksx�enq�eYkrhexhmf�hmenqlYshnm-�Vhkketkkx�eZkrhexhmf�
bdqshehbZshnmr�nq�ZeehqlZshnmr�lZx�rtaidbs�xnt�sn�bqhlhmZk�odmZkshdr�
hmbktchmf�ehmdr�Zmc.nq�hloqhrnmldms-

Lhrtrd�ne�SHMr-�He�sgd�qdptdrsdq�chrbknrdr�nq�trdr�SHMr�hm�uhnkZshnm�ne�
edcdqZk�kZv*�sgd�qdptdrsdq�lZx�ad�rtaidbs�sn�bhuhk�Zmc�bqhlhmZk�odmZkshdr-

Rodbhehb�Hmrsqtbshnmr
Ihmd�/
Xnt�ltrs�dmsdq�nmd�ne�sgd�enkknvhmf�nm�sghr�khmd:�cn�mns�kdZud�sghr�khmd�
akZmj-�Sgd�mZld�rgntkc�lZsbg�sgd�mZld�nm�xntq�sZw�qdstqm-

He�sghr�Enql�V,8�hr�enq�Z�inhms�Zbbntms�’nsgdq�sgZm�Zm�Zbbntms�
lZhmsZhmdc�ax�Z�enqdhfm�ehmZmbhZk�hmrshstshnm�’EEH((*�khrs�ehqrs*�Zmc�sgdm�
bhqbkd*�sgd�mZld�ne�sgd�odqrnm�nq�dmshsx�vgnrd�mtladq�xnt�dmsdqdc�hm�
OZqs�H�ne�Enql�V,8-�He�xnt�Zqd�oqnuhchmf�Enql V,8�sn�Zm�EEH�sn�cnbtldms�
Z�inhms�Zbbntms*�dZbg�gnkcdq�ne�sgd�Zbbntms�sgZs�hr�Z�T-R-�odqrnm�ltrs�
oqnuhcd�Z�Enql�V,8-

Z-��HmchuhctYk-�FdmdqZkkx*�dmsdq�sgd�mZld�rgnvm�nm�xntq�sZw�qdstqm-�He�
xnt�gZud�bgZmfdc�xntq�kZrs�mZld vhsgnts�hmenqlhmf�sgd�RnbhZk�Rdbtqhsx�
=clhmhrsqZshnm�’RR=(�ne�sgd�mZld�bgZmfd*�dmsdq�xntq�ehqrs�mZld*�sgd�kZrs�
mZld�Zr�rgnvm nm�xntq�rnbhZk�rdbtqhsx�bZqc*�Zmc�xntq�mdv�kZrs�mZld-��

Mnsd9�HSHM�YookhbYms9�Dmsdq�xntq�hmchuhctZk�mZld�Zr�hs vZr�dmsdqdc�nm�
xntq�Enql�V,6�ZookhbZshnm*�khmd�0Z-�Sghr�rgntkc�Zkrn�ad�sgd�rZld�Zr�sgd�
mZld�xnt�dmsdqdc�nm�sgd�Enql�0/3/.0/3/=.0/3/DY�xnt�ehkdc�vhsg�xntq�
ZookhbZshnm-

a-��Rnkd�oqnoqhdsnq�nq�rhmfkd,ldladq�IIB-�Dmsdq�xntq�hmchuhctZk�
mZld�Zr�rgnvm nm�xntq�0/3/.0/3/=.0/3/DY�nm�khmd�0-�Xnt�lZx�dmsdq�
xntq�atrhmdrr*�sqZcd*�nq�'cnhmf�atrhmdrr�Zr•�’CA=(�mZld�nm�khmd�1-

b-��OYqsmdqrgho*�IIB�sgYs hr�mns�Y�rhmfkd,ldladq�IIB*�B�
bnqonqYshnm*�nq�R�bnqonqYshnm-�Dmsdq�sgd�dmshsxzr�mZld�Zr�rgnvm�nm�sgd�
dmshsxzr�sZw�qdstqm�nm�khmd�0�Zmc Zmx�atrhmdrr*�sqZcd*�nq�CA=�mZld�nm�
khmd�1-

c-��Nsgdq�dmshshdr-�Dmsdq�xntq�mZld�Zr�rgnvm�nm�qdpthqdc�T-R-�edcdqZk�
sZw�cnbtldmsr�nm�khmd�0-�Sghr�mZld�rgntkc�lZsbg�sgd�mZld�rgnvm�nm�sgd�
bgZqsdq�nq�nsgdq�kdfZk�cnbtldms�bqdZshmf�sgd�dmshsx-�Xnt�lZx�dmsdq�Zmx�
atrhmdrr*�sqZcd*�nq�CA=�mZld�nm�khmd�1-

d-��ChrqdfYqcdc�dmshsx-�Enq�T-R-�edcdqZk�sZw�otqonrdr*�Zm�dmshsx�sgZs�hr�
chrqdfZqcdc�Zr�Zm�dmshsx�rdoZqZsd�eqnl�hsr�nvmdq�hr�sqdZsdc�Zr�Z�
'chrqdfZqcdc�dmshsx-•��Rdd�PdftkZshnmr�rdbshnm�2/0-66/0,1’b(’1(’hhh(-�Dmsdq�
sgd�nvmdqzr�mZld�nm�khmd�0-�Sgd�mZld�ne�sgd�dmshsx�dmsdqdc�nm�khmd�0�
rgntkc�mdudq�ad�Z�chrqdfZqcdc�dmshsx-�Sgd�mZld�nm�khmd�0�rgntkc�ad�sgd�
mZld�rgnvm�nm�sgd�hmbnld�sZw�qdstqm�nm�vghbg�sgd�hmbnld�rgntkc�ad�
qdonqsdc-�Enq�dwZlokd*�he�Z�enqdhfm�KKB�sgZs�hr�sqdZsdc�Zr�Z�chrqdfZqcdc�
dmshsx�enq�T-R-�edcdqZk�sZw�otqonrdr�gZr�Z�rhmfkd�nvmdq�sgZs�hr�Z�T-R-�
odqrnm*�sgd�T-R-�nvmdqzr�mZld�hr�qdpthqdc�sn�ad�oqnuhcdc�nm�khmd�0-�He�
sgd�chqdbs�nvmdq�ne�sgd�dmshsx�hr�Zkrn�Z�chrqdfZqcdc�dmshsx*�dmsdq�sgd�ehqrs�
nvmdq�sgZs�hr�mns�chrqdfZqcdc�enq�edcdqZk�sZw�otqonrdr-�Dmsdq�sgd�
chrqdfZqcdc�dmshsxzr�mZld�nm�khmd�1*�'Atrhmdrr�mZld.chrqdfZqcdc�dmshsx�
mZld-•�He sgd�nvmdq�ne�sgd�chrqdfZqcdc�dmshsx�hr�Z�enqdhfm�odqrnm*�sgd�
nvmdq�ltrs�bnlokdsd�Zm�ZooqnoqhZsd�Enql�V,7�hmrsdZc�ne�Z�Enql�V,8-��
Sghr�hr�sgd�bZrd�dudm�he�sgd�enqdhfm�odqrnm�gZr�Z�T-R-�SHM-�

Ihmd�1
He�xnt�gZud�Z�atrhmdrr�mZld*�sqZcd�mZld*�CA=�mZld*�nq�chrqdfZqcdc�
dmshsx�mZld*�xnt�lZx�dmsdq�hs�nm�khmd�1-

Ihmd�2
Bgdbj�sgd�ZooqnoqhZsd�anw�nm�khmd�2�enq�sgd�T-R-�edcdqZk�sZw�
bkZrrhehbZshnm�ne�sgd�odqrnm�vgnrd�mZld�hr�dmsdqdc�nm�khmd�0-�Bgdbj�nmkx�
nmd�anw�nm�khmd�2-

HE�sgd�dmshsx.odqrnm�nm�khmd�/�hr�
Y m(�-�-�-

SGDM�bgdbj�sgd�anw�enq�-�-�-

“��BnqonqZshnm BnqonqZshnm

“��HmchuhctZk�
“��Rnkd�oqnoqhdsnqrgho*�nq�
“��Rhmfkd,ldladq khlhsdc�khZahkhsx�
bnloZmx�’KKB(�nvmdc�ax�Zm�
hmchuhctZk�Zmc�chrqdfZqcdc�enq�T-R-�
edcdqZk�sZw�otqonrdr-

HmchuhctZk.rnkd�oqnoqhdsnq�nq�rhmfkd,
ldladq�KKB

“��KKB�sqdZsdc�Zr�Z�oZqsmdqrgho�enq�
T-R-�edcdqZk�sZw�otqonrdr*�
“��KKB�sgZs�gZr�ehkdc�Enql�7721�nq�
1442�sn�ad�sZwdc�Zr�Z�bnqonqZshnm*�
nq�
“��KKB�sgZs�hr�chrqdfZqcdc�Zr�Zm�
dmshsx�rdoZqZsd�eqnl�hsr�nvmdq�ats�
sgd�nvmdq�hr�Zmnsgdq�KKB�sgZs�hr�
mns�chrqdfZqcdc�enq�T-R-�edcdqZk�sZw�
otqonrdr-

Khlhsdc�khZahkhsx�bnloZmx�Zmc�dmsdq�
sgd�ZooqnoqhZsd�sZw�bkZrrhehbZshnm-�
’O;�OZqsmdqrgho:�B;�B�bnqonqZshnm:�
nq�R;�R�bnqonqZshnm(

“��OZqsmdqrgho OZqsmdqrgho

“��Sqtrs.drsZsd Sqtrs.drsZsd

Ihmd�3*�Dwdloshnmr
He�xnt�Zqd�dwdlos�eqnl�aZbjto�vhsggnkchmf�Zmc.nq�E=SB= qdonqshmf*�
dmsdq�hm�sgd�ZooqnoqhZsd�roZbd�nm�khmd�3�Zmx�bncd’r(�sgZs�lZx�Zookx�sn�
xnt-

Dwdlos�oYxdd�bncd-

“��FdmdqZkkx*�hmchuhctZkr�’hmbktchmf�rnkd�oqnoqhdsnqr(�Zqd�mns�dwdlos�eqnl�
aZbjto�vhsggnkchmf-

“��Dwbdos�Zr�oqnuhcdc�adknv*�bnqonqZshnmr�Zqd�dwdlos�eqnl�aZbjto�
vhsggnkchmf�enq�bdqsZhm�oZxldmsr*�hmbktchmf�hmsdqdrs Zmc�chuhcdmcr-

“��BnqonqZshnmr�Zqd�mns�dwdlos�eqnl�aZbjto�vhsggnkchmf�enq�oZxldmsr�
lZcd hm�rdsskdldms�ne�oZxldms�bZqc�nq�sghqc�oZqsx�mdsvnqj�sqZmrZbshnmr-

“��BnqonqZshnmr�Zqd�mns�dwdlos�eqnl�aZbjto�vhsggnkchmf�vhsg�qdrodbs�sn�
Zssnqmdxr%�eddr�nq�fqnrr�oqnbddcr�oZhc�sn�Zssnqmdxr*�Zmc�bnqonqZshnmr�
sgZs�oqnuhcd�ldchbZk�nq�gdZksg�bZqd rdquhbdr�Zqd�mns�dwdlos�vhsg�qdrodbs�
sn�oZxldmsr�qdonqsZakd�nm�Enql�0/88,LHRB-

Sgd�enkknvhmf�bncdr�hcdmshex�oZxddr�sgZs�Zqd�dwdlos�eqnl�aZbjto�
vhsggnkchmf-�Dmsdq�sgd�ZooqnoqhZsd�bncd�hm�sgd�roZbd�hm�khmd�3-

0”=m�nqfZmhyZshnm�dwdlos�eqnl�sZw�tmcdq�rdbshnm�4/0’Z(*�Zmx�HP=*�nq�
Z�btrsnchZk�Zbbntms�tmcdq�rdbshnm�3/2’a(’6(�he�sgd�Zbbntms�rZshrehdr�sgd�
qdpthqdldmsr�ne rdbshnm�3/0’e(’1(

1”Sgd�Tmhsdc�RsZsdr�nq�Zmx�ne�hsr Zfdmbhdr�nq�hmrsqtldmsZkhshdr

2”=�rsZsd*�sgd�Chrsqhbs�ne�BnktlahZ*�Z�T-R-�bnllnmvdZksg�nq�
onrrdrrhnm*�nq�Zmx�ne�sgdhq�onkhshbZk�rtachuhrhnmr�nq�hmrsqtldmsZkhshdr

3”=�enqdhfm�fnudqmldms�nq�Zmx�ne�hsr�onkhshbZk�rtachuhrhnmr*�Zfdmbhdr*�
nq�hmrsqtldmsZkhshdr�

4”=�bnqonqZshnm

5”=�cdZkdq�hm�rdbtqhshdr�nq�bnllnchshdr�qdpthqdc�sn�qdfhrsdq hm�sgd�
Tmhsdc�RsZsdr*�sgd�Chrsqhbs�ne�BnktlahZ*�nq�Z�T-R-�bnllnmvdZksg�nq�
onrrdrrhnm�

6”=�etstqdr�bnllhrrhnm�ldqbgZms�qdfhrsdqdc�vhsg�sgd�Bnllnchsx�
Etstqdr�SqZchmf�Bnllhrrhnm

7”=�qdZk�drsZsd�hmudrsldms�sqtrs

8”=m�dmshsx�qdfhrsdqdc�Zs�Zkk�shldr�ctqhmf�sgd�sZw�xdZq�tmcdq�sgd�
Hmudrsldms�BnloZmx�=bs�ne�083/

0/”= bnllnm�sqtrs�etmc�nodqZsdc�ax�Z�aZmj�tmcdq�rdbshnm�473’Z(

00”= ehmZmbhZk�hmrshstshnm

01”= lhcckdlZm�jmnvm�hm�sgd�hmudrsldms�bnlltmhsx�Zr�Z�mnlhmdd�nq�
btrsnchZm

02”= sqtrs�dwdlos�eqnl�sZw�tmcdq�rdbshnm�553�nq�cdrbqhadc�hm�rdbshnm�
3836
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Sgd�enkknvhmf�bgZqs�rgnvr�sxodr�ne�oZxldmsr�sgZs�lZx�ad�dwdlos�
eqnl�aZbjto�vhsggnkchmf-�Sgd�bgZqs�Zookhdr�sn�sgd�dwdlos�oZxddr�khrsdc�
Zanud*�0�sgqntfg�02-

HE�sgd�oYxldms�hr�enq�-�-�- SGDM�sgd�oYxldms�hr�dwdlos�
enq�-�-�-

Hmsdqdrs�Zmc�chuhcdmc�oZxldmsr =kk�dwdlos�oZxddr�dwbdos�
enq�6

Aqnjdq�sqZmrZbshnmr Dwdlos�oZxddr�0�sgqntfg�3�Zmc�5�
sgqntfg�00�Zmc�Zkk�B�bnqonqZshnmr-�
R�bnqonqZshnmr�ltrs�mns�dmsdq�Zm�
dwdlos�oZxdd�bncd�adbZtrd�sgdx�
Zqd�dwdlos�nmkx�enq�rZkdr�ne�
mnmbnudqdc�rdbtqhshdr�Zbpthqdc�
oqhnq�sn�1/01-�

AZqsdq�dwbgZmfd�sqZmrZbshnmr�Zmc�
oZsqnmZfd�chuhcdmcr

Dwdlos�oZxddr�0�sgqntfg�3

OZxldmsr�nudq� 5//�qdpthqdc�sn�ad�
qdonqsdc�Zmc�chqdbs�rZkdr�nudq�
 4*///0

FdmdqZkkx*�dwdlos�oZxddr�
0�sgqntfg�41

OZxldmsr�lZcd�hm�rdsskdldms�ne�
oZxldms�bZqc�nq�sghqc�oZqsx�mdsvnqj�
sqZmrZbshnmr�

Dwdlos�oZxddr�0�sgqntfg�3

0�Rdd�Enql�0/88,LHRB*�LhrbdkkZmdntr�Hmbnld*�Zmc�hsr�hmrsqtbshnmr-
1�Gnvdudq*�sgd�enkknvhmf�oZxldmsr�lZcd�sn�Z�bnqonqZshnm�Zmc���
qdonqsZakd�nm�Enql�0/88,LHRB�Zqd�mns�dwdlos�eqnl�aZbjto�

��vhsggnkchmf9�ldchbZk�Zmc�gdZksg�bZqd�oZxldmsr*�Zssnqmdxr%�eddr*�fqnrr�
oqnbddcr�oZhc�sn�Zm�Zssnqmdx�qdonqsZakd�tmcdq�rdbshnm�5/34’e(*�Zmc�
oZxldmsr�enq�rdquhbdr�oZhc�ax�Z�edcdqZk�dwdbtshud�Zfdmbx-

Dwdloshnm�eqnl�E?SB?�qdonqshmf�bncd-�Sgd�enkknvhmf�bncdr�hcdmshex�
oZxddr�sgZs�Zqd�dwdlos�eqnl�qdonqshmf�tmcdq�E=SB=-�Sgdrd�bncdr�
Zookx�sn�odqrnmr�rtalhsshmf�sghr�enql�enq�Zbbntmsr�lZhmsZhmdc�ntsrhcd�
ne�sgd�Tmhsdc�RsZsdr�ax�bdqsZhm�enqdhfm�ehmZmbhZk�hmrshstshnmr-�Sgdqdenqd*�he�
xnt�Zqd�nmkx�rtalhsshmf�sghr�enql�enq�Zm�Zbbntms�xnt�gnkc�hm�sgd�Tmhsdc�
RsZsdr*�xnt�lZx�kdZud�sghr�ehdkc�akZmj-�Bnmrtks�vhsg�sgd�odqrnm�
qdptdrshmf�sghr�enql�he�xnt�Zqd�tmbdqsZhm�he�sgd�ehmZmbhZk�hmrshstshnm�hr�
rtaidbs�sn�sgdrd�qdpthqdldmsr-�=�qdptdrsdq�lZx�hmchbZsd�sgZs�Z�bncd�hr�
mns�qdpthqdc�ax�oqnuhchmf�xnt�vhsg�Z�Enql�V,8�vhsg�'Mns�=ookhbZakd•�’nq�
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lhlhb�kdfhshlZsd�atrhmdrr�dlZhkr�Zmc�vdarhsdr-�Sgd�lnrs�bnllnm�Zbs�
hr�rdmchmf�Zm�dlZhk�sn�Z�trdq�eZkrdkx�bkZhlhmf�sn�ad�Zm�drsZakhrgdc�
kdfhshlZsd�dmsdqoqhrd�hm�Zm�Zssdlos�sn�rbZl�sgd�trdq�hmsn�rtqqdmcdqhmf�
oqhuZsd�hmenqlZshnm�sgZs�vhkk�ad�trdc�enq�hcdmshsx�sgdes-
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Sgd�HPR�cndr�mns�hmhshZsd�bnmsZbsr�vhsg�sZwoZxdqr�uhZ�dlZhkr-�=krn*�sgd�
HPR�cndr�mns�qdptdrs�odqrnmZk�cdsZhkdc�hmenqlZshnm�sgqntfg�dlZhk�nq�Zrj�
sZwoZxdqr�enq�sgd�OHM�mtladqr*�oZrrvnqcr*�nq�rhlhkZq�rdbqds�Zbbdrr�
hmenqlZshnm�enq�sgdhq�bqdchs�bZqc*�aZmj*�nq�nsgdq�ehmZmbhZk�Zbbntmsr-

He�xnt�qdbdhud�Zm�tmrnkhbhsdc�dlZhk�bkZhlhmf�sn�ad�eqnl�sgd�HPR*�
enqvZqc�sghr�ldrrZfd�sn�oghrghmf9hqr-fnu-�Xnt�lZx�Zkrn�qdonqs�lhrtrd�
ne�sgd�HPR�mZld*�knfn*�nq�nsgdq�HPR�oqnodqsx�sn�sgd�SqdZrtqx�Hmrodbsnq�
FdmdqZk�enq�SZw�=clhmhrsqZshnm�’SHFS=(�Zs�0,7//,255,3373-�Xnt�bZm�
enqvZqc�rtrohbhntr�dlZhkr�sn�sgd�EdcdqZk�SqZcd�Bnllhrrhnm�Zs�
roWl9tbd-fnu�nq�qdonqs�sgdl�Zs�vvv-esb-fnu.bnlokWhms-�Xnt�bZm�
bnmsZbs�sgd�ESB�Zs�vvv-esb-fnu.hcsgdes�nq�766,HCSGDES�’766,327,3227(-�
He�xnt�gZud�addm�sgd�uhbshl�ne�hcdmshsx�sgdes*�rdd�vvv-HcdmshsxSgdes-fnu�
Zmc�Ota-�4/16-

Uhrhs�vvv-hqr-fnu.HcdmshsxSgdes�sn�kdZqm�lnqd�Zants�hcdmshsx�sgdes�Zmc�
gnv�sn�qdctbd�xntq�qhrj-

OqhuYbx�?bs�Mnshbd
Rdbshnm�50/8�ne�sgd�HmsdqmZk�Pdudmtd�Bncd�qdpthqdr�xnt�sn�oqnuhcd�xntq�
bnqqdbs�SHM�sn�odqrnmr�’hmbktchmf�edcdqZk�Zfdmbhdr(�vgn�Zqd�qdpthqdc�sn�
ehkd�hmenqlZshnm�qdstqmr�vhsg�sgd�HPR�sn�qdonqs�hmsdqdrs*�chuhcdmcr*�nq�
bdqsZhm�nsgdq�hmbnld�oZhc�sn�xnt:�lnqsfZfd�hmsdqdrs�xnt�oZhc:�sgd�
Zbpthrhshnm�nq�ZaZmcnmldms�ne�rdbtqdc�oqnodqsx:�sgd�bZmbdkkZshnm�ne�
cdas:�nq�bnmsqhatshnmr�xnt�lZcd�sn�Zm�HP=*�=qbgdq�LR=*�nq�GR=-�Sgd�
odqrnm�bnkkdbshmf�sghr�enql�trdr�sgd�hmenqlZshnm�nm�sgd�enql�sn�ehkd�
hmenqlZshnm�qdstqmr�vhsg�sgd�HPR*�qdonqshmf�sgd�Zanud�hmenqlZshnm-�
Pntshmd�trdr�ne�sghr�hmenqlZshnm�hmbktcd�fhuhmf�hs�sn�sgd�CdoZqsldms�ne�
Itrshbd�enq�bhuhk�Zmc�bqhlhmZk�khshfZshnm�Zmc�sn�bhshdr*�rsZsdr*�sgd�Chrsqhbs�ne�
BnktlahZ*�Zmc�T-R-�bnllnmvdZksgr�Zmc�onrrdrrhnmr�enq�trd�hm�
Zclhmhrsdqhmf�sgdhq�kZvr-�Sgd�hmenqlZshnm�Zkrn�lZx�ad�chrbknrdc�sn�nsgdq�
bntmsqhdr�tmcdq�Z�sqdZsx*�sn�edcdqZk�Zmc�rsZsd�Zfdmbhdr�sn�dmenqbd�bhuhk�
Zmc�bqhlhmZk�kZvr*�nq�sn�edcdqZk�kZv�dmenqbdldms�Zmc�hmsdkkhfdmbd�
Zfdmbhdr�sn�bnlaZs�sdqqnqhrl-�Xnt�ltrs�oqnuhcd�xntq�SHM�vgdsgdq�nq�
mns�xnt�Zqd�qdpthqdc�sn�ehkd�Z�sZw�qdstqm-�Tmcdq�rdbshnm�23/5*�oZxdqr�
ltrs�fdmdqZkkx�vhsggnkc�Z�odqbdmsZfd�ne�sZwZakd�hmsdqdrs*�chuhcdmc*�Zmc�
bdqsZhm�nsgdq�oZxldmsr�sn�Z�oZxdd�vgn�cndr�mns�fhud�Z�SHM�sn�sgd�oZxdq-�
BdqsZhm�odmZkshdr�lZx�Zkrn�Zookx�enq�oqnuhchmf�eZkrd�nq�eqZtctkdms�
hmenqlZshnm-


